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Find the radius of a sector whose arc length and area are 27.5 cm and 618.75 cm?

respectively

(A) 35cm : (B) 25cm

M 45 cm (D) 55cm

eflcvadlar Bemd 27.5 Qe.18, uplivierey 618. 75.5.Qs.18 Qanar_ el L& Camenti) LiGSHullen 7Lb sredr.

(A) 35Q@s.8 (B) 25Q&.5
©) 45Qs.8 | .. (D) 55Qs8

If 15% of:fc=20% of y then find x:y

A 3:4 : M4 3
(C) 17:16 (D) 16: 17
x -6 16% = y -a1 20% erafléd x : y STeT. '
@A 3:4 ' ’ B) 4:3
(€)" AT 16 » (D) 16:17
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C = oA
© Z D) :
a 9 a-b
—_— — @ﬂ A -
b 7 i a+b
W = ® 8
8
‘ 2 9
C — =
© 7 D) 5
5. How many diagonals are there in a polygon of 15 sides?
A 30 B) 170
© 120 & 90
15 ussnsedr Asram_. ue CaransHnE aTssman apamaedl L kiGeT 2_drarar?
A 30 B) 170
© 120 : D) 90
6. Greatest Common Divisor of 924 and 105 is
v 2 » ® 23
(C) 24 (D) 25

924 wpmb 105-Gem BLGALIMH Quirg uEsS
@a 21 (B) .23
© 24 (D) 25
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The L.C.M of three different numbers is 120. Which of the following cannot be their H.C.F.?
@a 8 12

' B)
©) 24 W 35

epenm QeucuGeaupran eramsaficn 5.48.10 120 erafled Spssam_euppieT eTg euCeuatrsefen 5.Qum.eu

2|0e?
A 8 B) 12
@©) .24 D) 35

Given below are two series with specific pattern

T 183 29" 63 113247
5 (@ (b © @ (o

What will come in the plate of (e)?

173 B) 171
M 153 (D) 151
8Cy Qam@ssLIL_Heter, GHNALL 2 SHa@pL e algw Qb Qamiiseflen, (€)-ar AL srawms.:
7.18 29 53 113 217
5 @ (B © @ (@

A) 173 : B) 171
(C) 153 D) 151

The sides of the triangle are in the ratio 3 : 4 : 5. The measure of the largest angle of the

triangle is
@  60° & 75°
(©) 120° D) 150°

o wiCstamsder Lssnsar 3:4:5 aap dssHad ey aafled sigar BlsnGduiiv
Canemsdlen Sjarey wWrg?

A  60° B) . 78°

(€ 1208 - D) 150°
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10. A certain sum of money amounts to ¥ 8,880 in 6 years and ¥ 7,920 in 4 years respectively.

Then its principal is

(A) % 17,500 0/ % 6,000

(C) T 8,000 (D) T 4,530

em GHUALL ssarag 6 yardaafd T 8,880 ysab, 4 yar@sefleo T 7,920 yseyb
wrpdng eraflc) & eramig)
(A) ¥ 17,500 (B) 6,000

(C) ¥ 8,000 D) T 4,530

11. A person gets Rs. 50,000 (Fifty thousand) as loan with interest rate 4% p.a. from a bank. If
the interest is calculated year wise, then the compound interest, after two years, is

(A) 4,000 B) 2,000
© 2,080 P 4,080

9@611:‘7 e ey 4% een ep. 50,000 (guwusmiyn) eumduildmhg sLems Qump.
@ HEQETm oD el ly sasHl LT, @ra( THseT sfEH Seuir s Ceuamgw sl ()

QUL g WITEng)
(A) 4,000 (B) 2,000
(©) 2,080 (D) 4,080

-

12. What percent is 15 paise of 2 rupees 70 paise?

A 5% B) 5—%

< 5%% D) 5-2-%

2 eumis 70 evugneller 15 evuigm arggsemen #5655107?

A 5% B) 5=%
5
© 5 9 % D) 5=%
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1.8: Ninhydrin oxidizes many amino acids and produce

(i) Carbondioxide
(i) Ammonia and Aldehyde
(iii) CO, and H,0
@iv) CO,,SO, and H,0O

\M (1) and (i1) are correct (B) (i) and (iv) are correct
(C) (iii) and (iv) are correct (D) () is correct
Herenan fer QupbLTOrar fCam sflomsmer saligCadnd Calg e maameahamn
BGADS!.
@ Co,
(i) owCwreaflwr wHHb Beog.man(®
@ii) CO, wpmyw H,0
@iv) CO,,SO, wpmw H,O
A) @) womb (i) sflwreng B) (@) womw (iv) sflurerg)
(©) (i) wpmw (iv) sflwrearg D) (@) sfwneng

14. Which gas has not been transported by blood?

(A) oxygen (B) carbon-di-oxide
(C) oxygen and carbon-di-oxide ‘M nitrogen
QUHSHHTD SLSHILLTS R Uy aTH?

A) aflgen B) sflwble eumy
C) <ysfger wpmid sflwble eumy (D) enmLyggenm

15. When a mature egg leaves the ovary, it enters in the

W Oviduct (B) Follicle
(C) Endometrium (D) Interstitial cells
SassH0mbE pHibs L. QeuafiCupib Curg same & B EDG).
A) qellsl B) umddler
C) earGLr@ulMwd (D) @enidAwe Qe
og ) 2 7 TOGS/18
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16. Gene map can be constructed on the basis of the study of the following :

A)

\;1;)(

D)

Seggregation
Dominance
Percentage of crossing over

Independent assortment

wrugy aimruLLb swrflés Spssar_auppiar arbs pep LweaLEEDS?

(A)
(B)
©)
D)

seilsg) Afige

PRIG Ly

Gn&asdit wrHp sseisb
armAendl @&t Gse

17. Who was the 15t Chairman of AEC?

A4
(©)

Hamid A. Hussain \&/ Homi. J. Bhabha
Mohammad Khan (D) Ahamad Patel

QbHu gy 686 sa5Han (PSD Seaeuit wWTT?

(A)
(©)

anils. . ap~Caemr (B) Capméld. urum

WP&S STe (D) =swg LGLD

18. NRHM was launched in

A)
©

April 14, 2005 iy (B) April 13, 2005
April 11, 2005 &7 April 12, 2005

NRHM wiflpsiu@ssiu L syemr®

G2V
©

TOGS/18

gure 14, 2005 B) gure 13, 2005
glipé 11, 2005 D) g 12, 2005



19.

20.

21.

'22.

Goods and Services Tax (GST) introduced in India on
(A) 8 November 2016 &7 1 July 2017
(C) 8 July 2017 (D) 15 dJuly 2017

QuirL_ser wpmib uafadr eufl (GST) @pwreiled sidlapsliu@EsuULL BraT
(A) 8 mpeubuir 2016 (B) 159w 2017
(C) 8m9ana 2017 D) 15 x99 2017

The total number of Public Sector Enterprises (PSEs) had signed MOUs for the year

2008 — 09 were )
A 120 B) 122

M 125 D) 126

2008 - 09 & yfipgieriey @uubsmsald mas@uruub L Qurgisgion Hneambisdr Tgsamen?

A) 120 B) 122
(C) 125 (D) 126

Who was the Chairman of First Finance Commission of India?

(A)  SriK. Santhanam P27 SriK.C. Neogy
(C) SriAK. Chanda ' (D) Sri K. Brahmananda Reddy

@pHw s HlHs Gpellen seneaur wmi?
B)  Hm. Cs. spgrend ®B) S Cs.d. HCWTA
©C) Hm. 9.Cs. spgm D) Hm. Cs. Grwrenps Qi

During whose period the Charter Act of 1793 was passed?-

4" Sir John Shore (B - Lord Welloualy
(C) Lord Cornwallis (D) Warren Hastings

1793 —gpib gpewr(® UL W& &L 1D wrmenw stz HleapGappriuLg?
(A) & gren Cagmi B) QeueQeavel Gy
(C) asnmyemeunadlen gy D) euner Camevig miay

TOGS/18
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23. Who was Gandhiji’s private Secretaty?
(A) Patwardhan (B) C.R.Das
M Mahadev Desai (D) . Balarama Krishna

srpHeludlen 2ibsTRE Qawei wmT?
A)  uleuirgen (B) C.R. gmev

(C)  warGseu Cgemi (D) wegmo Smegeawrm

24.  Who was the author of Broken Wing?

\w/ Sarojini Naidu (B) Vijayalakshmi Pandit
(C) Aruna Asaf Ali (D) Annie Besant
2 aLfbg fn@seflen AMwir wri?
A)  #Cyrgllefl mmuy@ . (B) eflgguQe sifl Liedrig
©)  menm s’ 260l ' D) e Qusen

25.  The British Prime Minister Mac Donald announced the communal award which provided

separate electorate for the
(A) Land Lords &7 Scheduled Castes
(C) Workers (D) Peasants

Gl g6y Grgw wEHM WsECLTaMLE 2fleilss Gear @HEE B wan wrmhss salls0smEHulamen

cuiphiflug?
(A) fes seuneargriger B) smpssuLCL auGLiert
(C) an@a;nmﬁsé (D) eNeusmullser

TOGS/18 10 <



26.

Match the following and choose the correct answer.

Sipsam_apep Qurmss sflwmer flepLanws (SIS

Chief Justice of India
(a) Harilal Kania
(b) A.K. Sankar
" (¢) M.C. Mahajan
(d) S.R.Das
(a) (b) (©
MR 1
B) 4 2 1
© 3 4 2
D) 1 2 3
seamn fHUS
(a) apfered semeiu
(l;) 7.Cs. smist
(c) :snb.eﬂ. LDSTEREIT
()  erev.yT. Hrev
(a) (b) (©)
A 2 I 4
B) 4 2 1
© 3 4 2
D) 1 2 3

oW

(d

Tenure
1966-1966
1950-1951
1956-1959
1954-1954

ugedl sretd

1966-1966
1950-1951
1956-1959

1954-1954

11
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27.  Who is the first law officer of the Government of India?
(A)  Chief Justice of India (B) Union Law Minister
M Attorney General of Ir_xdia (D) Union Law Secretary

@Bdw sirélen apseneno L Fasrfl wri?
A) o248 ﬁﬂmc&;m semaeno L (B) wsHw s s@mwEsT
©C) @Bdw gmaweno cupssdliesi (D) wsHw e L Qewemer

28.  Who among the following was not a chairman of the National Commission for Minorities?
~ \”" Bhuta Singh (B) Tarlochan Singh
(C) Wajahat Habibullah (D) Naseem Ahmad

Spssam_auisener Cadlw Apuranamwuieant ameamusden samaeurTs @aOMTEeuIT wmi?
A) ylorfm (B) siCerser S
(C) agrans anGyden D) méd swE

29.  Who propounded the concept of ‘Rule of Law’?

W A.V. Dicey (B) Lord Bryce
(C) K.C. Wheare (D) Ivor Jénnings

‘BlL_gdlan U & Cam_uimigener apen@Qunfibseut wmi?
(A) AV.aLé (B) Wengev Gy
(C) K.C.awr (D) geui Ggenaflmiey

30.  The public undertaking committee was created on the recommendation by
(A) Santhanam Committee (B) JVP Committee
\Lﬁr‘ Krishna Menon Committee (D) Swaminathan Committee

Qurg Higeueiiser & wrmeLw ufipgmruier g riuam ule Carpmyedssiiu L g)?
(A)  sBgmand @y \ (B) JVP s
©) Ameigenr Cuanar @1 ' D) saumiprse G

TOGS/18 12



31.

-32.

33.

In which context is the word ‘Arya’ used in the Vedic Period?

(A) Caste (B) Religion
\J2” Apostrophic Word ' (D) Tribe
Ceug arewsdle erhs TS558 ‘@ fwiser eram eunidams LweTLHSSILLL &7
A grd . (B) s
©) Awssssss aunisms D) uprEy

In which Indus Valley city, the remains of a dockyard was found?

(A) Amari o \,e( Lothal

(C) Mohenjodaro (D) Rangpur :

Aibg swQeuafl Brafs sresdlear UL UL ®D &S ahCsh® sransdamLSga?
A)  <ofl (B) Gwrrgcb

(C) QursgpezrGrr D) grusyT

Identify the correctly matched pairs among the following :

; First Buddhiest Council —  Ajatashatru
2 Second Buddhiest Council -  Asoka
3. Third Buddhiest Council -  Kalasoka
4. Fourth Buddhiest Council —  Kaniska
\V 1 and 4 only (B) 1and 3only
©. 2 and 3 only (D) 3and4only

Gemeumeuanaupmier #fwns QUIEBSSILIL (HETET QEnERTEMET L WITETD ST (H&.

L s yss L - SIRTEEED

2. @neRTLgid LSS wrprh — 9Camam

3. epeTmmd LUss wrprlh  — TGS

4. BIENGND LSS rprlH  — sl GigsT

A) 1 wpmd 4 LB (B) 1wmHmwb 3w @

(C) 2 wHmwb 3w Hb (D) 3 wHmb 4 wHL
- 13
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34. Match the following :

(a) Diwan-i-Ariz 1 Department of Slaves
(b) Diwan-i-Bandagan 2! Department of Military
(¢) Diwan-i-Qaza-i-Mamalik 3. Department of Agriculture
(d) Diwan-i-Kohi 4. Department of Justice
@ ® © @ i
0{ 2 1 4 3
By 1 2 4 3
(€© 3 2 4 1
D) 4 3 . 2
sflwurereupenm QuUmmHESS :
(a) SHoeumenr-@)-yflev 1. 3|lg LOEET FIHD
(b) Seunen-@-upssen 2. Qrregmieus siewm
() Seumen-@-smem-@)-wwreds 3. efleusmug gemm
d) Heuren-@-Candl 4. Bdsgiemn
(a) (b) (0 (d)
@a 2 1 4 3
B 1 ‘2 4 3
© 3 2 4 1
D) 4 3 1 2

35.  Who was defeated by Iltutmish in the battle of Tarain in January 1216?

(A)  Nasir-ud-Qahacha \&" Tajuddin Yildiz

(C) Alimardan (D) Jalaluddin

geneufl 1216-6 pLps sGren Curflad oG lavre Ggrrgban;éssUuLl_wr'r wimr?
(A)  paSimSear Geurdsm (B) srgrien Qdgay

(0):  sdwirgen (D) georaySen

36.  India-Afghan friendship dam or Salma Dam was built on the river

(A)  Kunar @7 Hari Rud

(C) Pech (D) Kabul

@pfur-gylsraflsvgrer Bl Smem S@@g sdwLT e ahs pHlar  GnECs
S UUL (DeTerg)?

A)  @emi B)  anfl B5

© Sa& : D) smye

TOGS/18 14 - o




37.  Which Indian cricket player awarded by Padma Bhushan award during the yeazr 2018?
(A) Virat Kohli (B) Bhuvneshwar Kumar
\ﬂ/ Mahendra Singh Dhoni (D) Rohit Sharma

@pdw HN&Qs . sienflufer 2018-2yb yar® LG Lger el B AUDD el wiri?
(A) eflgr’ CGsmed B) yeuCareveur @Lomi

(C) wCandly &ty Coreaf (D) Cyrdlg srwom

38.  What percentage of plants are endemic in India?

@A) 10% &7 33%

(C) 66% D) 72%

@QiHureie srariiu@Bb UaEh sreurhsaten s5elldswn ereuaueney?
A  10% B) 33%
(C) 66% ' (D) 72%

39. How many districts the Tamil Nadu Government planned to implement a project on “Supply
Chain Management of Fruits, Vegetables and other Perishables”?

@ 7 ®) 8

© 9 @ 10

“LiprugeT, SMUSHIEET LHHID SHWPEGD AUITHLEET CuLPEIGD siiflell Guararen” HUL1b, spasHe
arggean wreul L kisalld) penLpeapudssuuBEDS?

@ 7 ®) 8

© 9 D) 10

15 TOGS/18
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40. IDOP stands for
(A) Industrial Day of Organizations Policy
M International Day of Older Persons
(C) International Day of Ocean Policy

(D) Industry Defend of Old Program

IDOP eranuigen et fleuréaid eremmen?

(A) Industrial Day of Organizatio‘ns Policy
(B) International Day of Older Persons
(C) Internatiofxal Day of Ocean Policy

(D) Industry Defend of Old Program

41. In which year, X-rays was invented?

M 1895 (B)

© 1905 D)

aTéen SHTEET eThS D,enr(H ser(H g ssLl L g)?
(A) 1895 (B)

(C) 1905 D)

TOGS/18 16
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42,

43.

44.

On which day, Neil Armstrong and Buzz Aldrin walked on moon?

(A)  July 21, 1968 J"'( July 21, 1969
(€)  July 21, 1970 ' (D) July 21, 1971

Béb pibavL s wHmID e L Mer HCwm &ﬁﬁgaﬂé) srOUSSS BTeT 6Tg)?
(A) 1968, e 21 (B) 1969, grena 21

(C) 1970, grane 21 (D) 1971, ggeevew 21

How many wildlife sanctuaries are present in India?

A 4 (B) 482

72 |
49/ 192 D) 502

@pduwimesiey TSN Gua elleEE STETTEWIRISET 2 GaTe?
@) A2 (B) 482
© 492 (D) 502

Which year the world’s biggest aircraft manufacture, the Seattle-based Boeing company was

born?
(A) 1900 \m( 1916
(C) 1932 (D) 1945

o wsarmeliu WaC@UAL, efwrar 2/ Husureryrer, Aurige o arear Cuml Bmieuemnd eriGung

2_(Heumeng)?
(A) 1900 g (B) 1916
(©) 1932 (D) 1945

17 ' TOGS/18
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45.

46.

47.

What is an All India inflation rates based on CPI during the year 2015-2016?

W 491 B) 593

©) 944 (D) 9:90

2015-2016 <yib yewriqed maTGauni elamas @huSiyen Ly (CPI) @pHunelar uareiss s

GTeue?
A) 491 : B) 5.93
(C) 9.44 (D) 9.90

In which location the Brazil lifts the 15t BRICS U-17 Football tournament 2016?
() . Péne By Goa
(C)  Delhi (D) Mumbai
\WGréle Geaupd Qupp Gfise U-17 srédupg Curiigulen wpssd LSy 2016 b @ymgd e
penL_QuHmg)?
A) yGar (B) Gsmeur
(C) Qredl D) @weu
Positron was discovered by
M Anderson (B) Chadwick

(C) Rutherford | (D) Bohr
urél_grenen seir(Hi9iq SSeur wmi?

(A) e _igen B) smiels
©) msrCuri® D) Gumr

TOGS/18 18 <



48.

- 49.

50.

Terra — Rossa soil is associated with
(A) River (B) Wind
(C) Waves \JB(‘ Karst Region
Quirym — Gymem e Qs AT wg)
A) ymser B) smHm
(C) meser D) sawewrmby urenp WgCsFD
Who was the first woman president of the Indian National congress?
&~ Annie Besant (B) Sarojini Naidu
(C)  Sucheta Kripalani (D) Rajkumari Amrit Kaur
@pHw Cadlu armdyfler s Qe Geaeui wmr?
A) enafCQugen . (B) &Cyrgdefl pry®
(C) &flgsm Hmunerafl : (D) grgEwri SdliTgCaari
Which of the following is the highest volcanic mountain?
M Cotopaxi (B) Krakatova
(C) Stromboli (D) Vesuvius
&Gy QanR&suL_([HeTeTenaus@her 2 WTLomer erfloeme 61g)?
(A) Gammurged (B) &rssCLmeun
. (C)  eviggmbdbGumeiwien D) Qeuseilwev
19

TOGS/18
[Turn over




51.  Sanjay bought a bicycle for Rs. 5,000. He sold it for Rs. 600 less after two years. Find the
loss percentage.

A 10% (B) 14%

©C) 8% ' 12%

serel 04 euamgenw m.5,0006@ euriuflami. @yer® QJ@LIEJ&@&@U |_‘1’lg)@ 5.600 Gemss
eflpmmir. eresfled BLL EHCIHHMSE HTEHT.

A 10% B) 14%

© 8% (D) 12%

52. 15% of 578 + 22.5% of 644 = ?

A) 2314 | & 216

(C) 231.8 (D) 233.6
578 15% + 6446 22.5% = ? ‘

(A) 231.4 ' (B) 231.6
(C) 2318 (D) 233.6

53. If x=2+J§, then the value of :\:+l is
% .

@ 2z o 1

© 2 ' D) 243

x=2+43 aafld x+l-cisru>£uq
x

Q) 242 ®B) 4
© 2 _ D) 243

54.  Calculate the perimeter of a quadrant of a circle of radius 21 cm.

A) 65cm G 75em

(C) 44cm (D) 88c¢m -
21 Q&8 gpraperer srdaul L L1 LGSl sHmeTe, Hmer

(A) 65Qs.8 (B) 75Qs.8

(C) 44Qs.8 (D) 88Qs.8
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55.

56.

57.

Find the value of 55 x 56

(A) 3800 (B) 3050
W7 3080 (D) 8030
i srewr : 55 x 56 g

(A) 3800 (B) 3050

(C) 3080 (D) 8030

The ratio of two numbers is 3 : 4 and their L.C.M is 120. The sum of numbers is

\M{ 70 (B) 140

C) 35 (D) 105

@ eramsaflan e 3 : 4 Cogib sicellwm arareaflarn Bs8p wiy 120 aeaflé seuellm eramaatlen
G (HOFTens eTETLIZ)

@ e | B) 140

© 35 (D) 105

Pipe A can fill a cistern in 4 hours while pipe B can empty it in 6 hours. If both of them are
opened together at the same time when the tank is empty, the number of hours taken by
them to fill it is

@A 6 ®B) 8

© 10 W7 12

o Bidsm you Gemi A afurs fi LG Bruyd Cprsdad 4 werfl Coyo wfng. 2Cs
Grrsdler @i B eyeng 6 werfl Cprsdle Asmiymw B Gomod Anbsl AL® smedl Gaudmg).
@Gy Crrsder @rem@Go SpssiuLmed Qs srelungh ey @ aspmen wefl Coybd

Qsmigenw Biiul LweTuHID eremIans sanl

(A 6 B) 8

(C) 10 @O 12
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58. A man bought an old bicycle for Rs. 1,250. He spent Rs. 250 on its repairs. He then sold it
for Rs. 1,400. Find his gain or Loss percentage

W Loss 6.67% (B) Gain 6.67 %
(C) Loss20% (D) Loss6%
R BUT @ umpw WIE euamngerw, g 1,2506@ curmdlamt. oigmear Fu@Bss m. 250 Qeway

Qewgni. et sgwer 5. 1,4008@ eApori. SeUGBHLL @OIUD ODH BLLSDHS ST

(sgeipsHler)
(A) 667%plLbd (B) 6.67 % eomuibd
©) 20%pliwn (D) 6% plLid

59.  Three dice are thrown simultaneously find the probability of getting Triplet in all three

1 | 1
W 3

1 1
© PXTS (D) %

ey LsamLser @Gr Cprsdle o miLLu@dapar. epardib @G erar s Hapsse srears?

K 1

By == s
1 1

© VTS D) 71

60. 7 men can complete a work in 52 days. In how many days will 26 men finish the same

work?
(/ 14 B) 35
© 28 D) 26
7 Yy sar @@ Caumaaw 52 prisafld Qang iy sdamen. 968 Caumaamu 26 gy sar érgga)m
presefle Gewig apgliumiser?
A 14 : B) 35
© 28 (D) 26
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61.

62.

63.

A man’s wages were decreased by 50% and the reduced wages were increased by 50%. He
has '

(A) no profit and no loss
(B) alossof 0.25%
(C) alossof2.5%

\W a loss of 25%

emaflar &l 50% GapssLu®dng. Yerart, Gonssiul L saluier 50% dsfsaiiu@dng
crafle) SieuHES, :

A) @aeruepb @dame BLL 1P @deme

(B) 0.25% mlL1b

C) 25%pliw

(D) 25% pLliid

What must be added to X to make it equal to x?

, x
@, =1 .y
x+1 x—1
241 x% -1
C X+ M
(®) » -
i -2 L 6 GTangé dal_lganmed igen Sl X erear SlepL&ELo
x
(A) x-1 (B) x+1
x+1 - x-1
2 T
@ 2 iy e
x &

The HCF and LCM of two numbers are 13 and 1989 respectively. If one of the number is
117, then determine the other

A 121 (B) 131

Jr~ 221 D) 231

@nan® arammseafien 8.Qur.eu (HCF) wpmid B5.8.0 (LCM) dwear apenpGu 13, 1989 eremmy
2 ereng), DS @ eravranflan AL 117 erafler wH@pmay ererenfien L) smawr
(A) - 121 (B) 131
© 221 (D) 231
23 ©  TOGS/18
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64. The geometry of Ni(CO), is

(A)  Square-planar \M Tetrahedral
(C) Octahedral (D) Trigonal bipyramide

Ni(CO), -e eugauenoiy
(A) swgemd (B) Brenpd
(©) aarapd D) a&Carem GmIATAEH

65. DDT is an insecticide, which is prepared from
(A) Chlorobenzene + Trichloroacetone ‘
\M Chlorobenzene + Trichloroacetaldehyde

(C) Benzene + Trichloroacetone

(D) Benzene + Trichloroacetaldehyde

DDT eremp &8 Qarerallwuneng, Wearaumb eraupdledmhg swrflésiiuGpg?
(A) @Gmn@bn@u&r@s&r + Lang@CemmGrmei&l_GLmer
B) ECamCGrrQuender + Ley@CearmCrraiflLmeévigeman®

(C)  Quender + Leny@CarmCrmofl_CLmen

D)  Quenden + "eoy@CammGrredLrégeman(®

66. Identify the pairs of ldnger and shortest waves in terms of wavelength?
\M Radiowaves, Gamma rays
(B) Infrared waves, Gamma rays
(C) Gamma rays, X-rays

(D) UV waves, Infrared waves

Aemeu(mid @enentudied 2iHs HMID GODHS D@ BaTmsmer QETETL eHOEET
A)  CryCwr semeser, smor sflrser

B) ss&fleuliy Simesar, srom sdlTser

(C)  smor sfliser, X-sdiser

D) UV s@esdrn, os&fleuli] dmager
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67.

68.

69.

70.

Linkage is
(A) Directly related to crossing over
(B) Same as translocation

W Inversely related to crossing over’

(D) Opposite to seggregation

Genemrii erariuBeug

Q) EnsasdiwrmnsgL e Criwamp Asm_iiyamLwg)
B) @uwwrmgd Curamg

©) ©n&asdiwrHnsgL e adivan QST wg)
D) urEuILRHEG armaig)

Which one of the following is not a communicable disease?

(A) Zika (B) STP

('C) Ebola \ﬂif Cataracts
8Cy QsrHssiu_Heararaeusafiie erg Lgaur CHTLSE 2 FTraTD?
A)  Hsr Cpmi (B) ere.1q.19
(C) eCGurer (D) sawryeny

The fungus, neurospora has been extensively used as an experimental material in the
study of

(A) physiology : . (B) pathology

(C) cytology W genetics

Bl CrreuCGumT LEsemswreag), aps U i9D@ ey Aurmans oifls oiereiled vweru HEmg)?
(A) 2LoGswelwd (B) Crmulweé

(C) Qsoallwe | D) wrGwe

The disease characterized by high levels sugar in blood and urine due to inadequate supply
of insulin in body is '

(A)  Peptic ulcer (B) Diverticulosis

(C)  Obesity \J?T Diabetes

o Laflé Gurgiarer ety @eansalar @oammowrd @rsso wppn Apbid eifaae sissmy
sraiu(Beug @BCHTle GearTon@Ld '

A)  adpmiyes . (B) eauig@Carmélan

(C) oL umwer (D) #APiey
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percent of the area under

35 percent

39 percent

71 Expansion of MTNL
(A) Mahatma Telephone Nigam Limited
\M Mahanagar Telephone Nigam Limited
(C) = Mahajan Telephone Nigam Limited
(D) Manoj Telephone Nigam Limited
MTNL - erenugen eflfleurésio
(A) Mahatma Telephone Nigam Limited
(B) Mahanagar Telephone Nigam Limited
(C) Mahajan Telephone Nigam Limited
(D)  Manoj Telephone Nigam Limited
72.  National Forest Policy — 1952 announced about
forest in the total geographical area.
«( 33 percent (B)
(C) 37 percent (D)
Caélw euans Qametens 1952 Qungs Hleliurinde
eren ihlell 558
(A) 33 sgeisd (B)
(C) 37 szaigd D)
73.  Planning Commission was dissolved on
(A) 07 August, 2014
(C) 27 August, 2014 (D)
AL & @ sess L L BreT
(A) 07 gysevr, 2014 (B)
©C) 27 gy@avl, 2014 (D)
TOGS/18 26
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35 #zaisid
39 sgaisd

\W/ 17 August, 2014

30 August, 2014

17 gysevi, 2014
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74.  In whose period Post Office Act 1854 was passed?

(A)
©)

Lord Canning
Lord Mayo

(B) Lord Elgin

7 Lord Dalhousie

1854 gy yer(h HUMD SiIUEF FLL LD wWrmenL_wi sregHe HlanCaunmiiLi L g?

A
©)

sreflm Gyy
CuCuwir gy

(B) - erévgilerr 19y
D) reoGanerdl Gy

75.  Match the following and choose the correct answer from the codes given below :

(a)
(b)
(©
(d)

.4
B)

©
D)

Newspaper

Kesari

Mook Nayak

New India
Punjabi

(a) (b) (©
3 4 2
2 4 3
1 2 3
4 3 2

Founder
1. Lala Lajpat Rai
"2. Annie Besant

3. B.G. Tilak

4. Ambedkar
@ |
1

1

4

1

Epsramuapearn QurBsss, sflwrer el amw GHlUGsafldnhg CombEsM :

(a)
(b)
(©
(d)

A)
B)
©
D)

usflsens
Caal

eps BTG
By @b
uEpemal

(@ (b) (©)

= N W
o W W N

Qgm_ridlwieur
rer gL rmi
Sjenafl Quaem_
B.G. flesit .

2CuGsT

W e

(d)

i
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76.  Which of the following Amendment provides for amending first schedule that deals with
acquisition of certain territories of India — Bangladesh by a mutual agreement?

(A) 95 Amendment
(B) 98t Amendment
W 100*» Amendment
(D) 102 Amendment
@ibdwr cumiigter Cgen @ Cuuwirer @msriy @uUbssHa powrs iga Ao uGHsmar
Qpdwre_er Genarté@b cuensuliler (pgamaug L cuamentuiley wrHmb QFEdw Gara® eugliul L
2rflweenli] &L Smasn 6rg? ' '
(A)  9Sag &Li.L.@@éﬁLb
(B)  98aug s Hlmssbd
(C)  100cug s L Hmssid

(D)  102eug s L Hmssbd

77.  The Reserve Bank of India was established by the

(A) the Act of 1919

\ﬂ( the Act of 1935

(C) Indian Independence Act of 1947

(D) Indian constitution

@pHw Nere euiiflenws 2 (HeursHwig

&) . 1919 gyib @S &L

B) 1935 @b @yam(é UL b

(C) 1947 gyib ya(h QBHw N Hg@EF 11D
D) @pHu srdueenoiiy
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78.

79.

Match List I and List II.

List I (Prime Minister) List II (Year)
(a) Gulzarilal Nanda 1. 1966
(b) V.P. Singh 2. 1989
(c) Charan Singh 3. 1979 .
(d) LK. Gujral 4. 1997
5. 1984

Codes :

(a) (b) () (@

A 3 4 2 1
B) 4 3 2 1

1 2 3 - 4
D) 1 4 5 2

uligwe I wpmib uligwe IT Qurmsgs.

uCigwe-I (Qrswir) U igwie-IT (eu@pLtb)
(a) @ogrilord pHST g, 1966
(b) V.P. &y 2. 1989
(©) syewm & 3. 1979
@) LK. ggrme 4. 1997

5. 1984

@OUH &6 :

(a) (b) (©) ()
A 3 4 2 1
B) 4 3 2 1
() B | 2 3 4
D) 1 4 5 2

Which part of the constitution deals with Directive Principles of the State Policy.

(A)  Part III \BT" Part IV
(C) PartIV-A (D) PartIl

Srflweewiden aps LGHWD sirdlar auflsm B Apdlepaps Qararms o areng)?
A uedlll B) vsd IV
©€) udlIV-A D) uvedll

| 29
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80.

81.

82.

Prior to the ————— any or all of the fundamental rights could be suspended.

(A) 42 Amendment (B) 1%t Amendment
(C) 73 Amendment W 44t Amendment
s L 5HmEssdNE paramd gl 2 fl@wsafar ¢ LGS dws manss)
SigliuenL 2 fenwsEpb gHsralswnns sam . QeuwiuL el @mbes.
B)  42-ag s LGHGESD B) l-aug L @S0
©) T73-aug LGS HSSD (D) 44-aug s L5SmEsWD

In Tamil Nadu the retirement age of the Government employee was increased from 55 to
58 years by the Chief Minister

(A) K. Kamaraj
(B) C.N. Annadurai
(©)' M. Kartinanithi

\y M.G. Ramachandran

s8lpasde <irs cafwisaiier @uie) auwes 55-dlmbal 58-2s e WSS (pswmFET
A) © smogTy

B)  HA.oren. amTERTTZIENT

©) . smewrnhld

(D) enb.g). @rmosspyer

The minimum strength of the State Legislative Assembly is
(A) 40 (B) 50

W 60 @ 70
wrhle &0 Cuymaiiear Gamppsul s 2 plidarsafler cramemfsams
(A) 40 (B) 50
(C) 60 D) 170
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83. Which of Iltutmish’s adversaries was drowned in the Indus?
(A) Tajuddin Yildiz m asir-ud-Qahacha
(C) Aram shah (D) Ali Mardan

Qagngleder erbg NG g FHUID 28 PSHE Qameeiu L men?
(A)  srgreSean @eigev (B) mréir-o &-@eurgsn

(®)) QTDagT . (D) =6 wirgen

84. What was the national emblem of the Gupta Empire?

(A) Lion (B) Peacock
\‘Qf Garuda (D) Elephant

@LsL Cuirdler Caflwé Herembd e1g)?
(A) SAmsbd B) wuleé

©) smLen D) wmrenes

85. The Gupta inscription found in Allahabad Belongs to
(A) Chandragupta Maurya (B) Kumaragupta

W Samudragupta , S (16 Bfahmagupta

aa)srrﬁngisﬂsb fenL_ssLGupmeTer GLS so@eulH&6T WTHeL W sTadamss Camnbss)?
A)  spdlyerg Querflwi (B) @ @ust
©C) ssdy GLST ' (D) - Qgbw GLST
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86.  What is the name of the E-enabled project launched by Indian Railways?
(A)

©)
(€0)

Project Management and Internet Services (PMIS)
Project Management and Information System (PMIS)
Project for Railway and Information System (PRIS)
Project for Railway and Internet Services (PRIS)

@pdu @ruieGe Agrridw Wer Qeudun’ @ S gler Quwi eremen?

A)
(B)
©)
()

S Cueramanio wHpID Gevamu Gaemauser
L Cuarea@meio HmHiD SS6I0 SHenLOLIL
@rieCau HYID SH6uD Sienoliy FLL D

@lfu&]é)('o’m wHmib @emamu CsmaisEhssTar S LD

87. To identify the aim and purpose of the scheme “Deen Dayal Upadhyaya Grameen

Kaushalya Yojana” from the following and choose the correct answer.

@
(ii)

(iid)
(i)
NZ2

©)

To create an environment conducive for industrial development.

To alleviate urban and rural poverty through enhancement of livelihood
opportunities.

To connect every Indian through technology.

To train 10 lakh rural youths for jobs in three years.

(iv) only (B) (i) and (iii) only
(i) only (D) (i) and (iv) only

“Ban swnd eursumu Symo, Asaredw Gurgen” aargid Sl Fdldar Cprésd ereran caTLmS

Epsar_eauphle sflunaeas GHUIHS.

(@)
(i)

(ii1)
(iv)

)
©

TOGS/18

Qsmfler cuariéfléE 2. 6HS GRHlaML 2 (HauTEGHe0.

Aymo wHML FTILD Fpew Howamw Cursd Apps eumparsrrsdpsrear auflgpapaul
2 (HEUTH@GHSD. ' :

@eaQaunm @pHw Gigosmanyb Qsmflop LsSHd GleameaniiLg).

oI UBLSADGT GODHSS USs @D @@eaneiaEsd Coumaemily uubhé
<2aflgse.

(iv) @b B) () wpgd (iii) w b

(1) oG D) (i) wppid (iv) Lo
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88.  From when onwards the National Calender was adopted?
& March 22, 1957 ~ (B) March 22, 1950
(C) March 21, 1947 (D) March 21, 1945

eremledl(mb g Cadlwu Brism_ig gonsbamareriulL g ?
(A) 1957, wonig 22 (B) 1950, woniré 22

(C) 1947, e 21 (D) 1945, wmirg 21

89. How much of sea level is raising every year?

MB.IG mm (B) 4.16 mm

(C) 7.10mm (D) 9.10 mm
@euGeurm peaT(HD SL6 L LD ereualarey s MEdng?
(A) 3.16 mm (B) 4.16 mm

C) 7.10mm . - D) 9.10 mm

90. When was the National Testing Agency established and by whom?

(A) Union Cabinet in November 2018

@(’ Union Cabinet in November 2017
(C)  Union Cabinet in December 2017
(D) Union Cabinet in January 2018
Csflw Cargenan Flmieuand erlGUIT(PS) WITTE) HAMOESILLL &7
A) wsHu s@wEsT@euwTD Heubum 2018 2 (HeurssLLLL g
(B) wsHu semwésremeuwime peubui 2017 2 (HEUTESLILLL &)
(C) wsHu ewisTMeLITD RadUT 2017 2 (HeuTsslLLL g

D) wsHu smvssTameuwTd geareufl 2018 2 HeurssLLLL g
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2L

92.

Who was the Cabinet Secretary in 20177

(A)  Shri. Ajit Kumar Seth

\M Shri. Pradeep Kumar Sinha

(C) Shri. KM. Chandrasekhar

(D). Shri. B.K. Chaturvedi

2017 <yib yarriged Sjemwssrene (Calan ) Qewareryrs @mboeuT wiri?
A  Am. 2g8sEwrT GCas

B) A Gy8L @ Heranm

€) Hm. KM. spdlyGssir

D) &Hm. B.K. sgiCGeud

A 1000 kW super power medium wave transmitter was commissioned at Mogra near

Kolkata in the year
W 1969 ®) . 1970
(C) 1972 D) 1975

Qarossst méle 2 erer Awrapgreiier 1000 kW o wir lenflaawsgde pOSST dme gafigiy

eThG per(h Hlullasiin L g)?
(A) 1969 (B) 1970

(C) 1972 D) 1975
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93.  Global competitiveness report is published by
(A) World Bank

(B) International Monitory Fund

M World Economic Fdrum

(D) UNCTAD

2 @& Cum_iys Hner émaamw QeuafiudiBueurr
(A) 2osamd

B) srauCss prawmu ﬁlﬂﬁub

(©C) 2os@ur@merTgTy ETDHLD

D) aisssn wppb SalmsHésTar paHw preser wrpr® (UNCTAD)

94. Bharatha, as a region, was first mentioned in the work of .

GF Pasanjali (B) Panini

(C) Pliny L (D) Ptolemy

UMTSLD CTaTL®S G @Lom& San L LiLsafle apgefld GO L i
A)  usepsad ; (B) unexflafl

©) Geflaf D) QsrAeid
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95.  The planet which is known as morning and evening star is

M Venus (B) Mars

(C) Uranus (D) Earth

2 $lé@ wHHID DD HLFSSTD aapassILIHb Camer
(A) Qeusrafl (B) Qseueumis
©)  yGpemev D) yel

96. Indira Gandhi National Park is located in
(A) Kerala (B) Sikkim
(C) Bihar \@7” Tamil Nadu

QS srpd Caflw YhisT Se@whgierer @b
(A) Gsperm . B) Hsdid>
B e @) HHppr6

97.  Which of the following landforms are produced by wind action?
1. Barkhan
2. Mushroom rock
3. Alluvial fans
4. Sand dunes
(A) 1and2only : (B) 2and 3 only
1, 2 and 4 only (D) 2 and 4 only

Epssar flogCsrppriseia srhilear Qewuimswunrd Cemppelssiiu@b HeosCsmhprser wreeu?

2 1 UT&STen
2. STETTET LITEHMD

- 3. cueTL_c il

4. LOGRTE) (6T MISET
(A) 1, pmibd 2 w@Hd (B) 2wpmb 3w Hib
©) 1,2wpmbd 4w Hid - (D) 2 wHmw 4 wHL
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98. Which of the following has the least specific charge?

(A) electron » ~ (B) proton
M a —particle (D) p-particle

&Gy sriul Bereraupileh e Gewmeuran Weangr L Hlepsssefamans Qaner (Hererg)?
(A) ere&L _grenm B) yCGpmimén

(C) a-gser (D) p-gser

99.  The operating frequency of a Wien bridge oscillator is given by

1 1
A B
@ 27JLC ® 4rJLC
1 1
“9/ 2rRC | @) 29RC

aflwerr ure Hyeeullwpdluier Qeuideiams H T e &arer s

1 1
W - SJiC L 7
' 1 ' 1
© R D Z5re

100. If the source is kept at infinity, the shape of the wave front will be

(A) spherical (B) cylindrical

(C) elliptical ‘M plane

rhleors dgreaaeie ameausaiiulHdarer gafl apasdod QupLIL@L SmePsIA6 ailgaid
(A) . Csnemeuigomend B) 2o mener

(C) Bereulid (D) swgembd
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